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Proving Trigonometric Identities OV 14/20/8;

An identity is an equation which is always true for all values
of the variable(s) within the domain.

To prove a trigonometric identity, manipulate one side of the
equality until a form identical to the other side is reached.

When using an identity to solve for a variable, any restrictions
where information is lost (e.g., dividing out factors) must be
noted and incorporated into your final answer(s).

It is also possible to disprove an equality through a
counterexample. If the equality can be shown false with a
single example, it is considered to be false in general.
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Tips for working with trig identities:

1. Keep your goal in mind! As you work one side, keep
in mind how to get closer to your target.

2. Start with the most complicated side and try to
make it simpler.

3. If stuck, try expressing in terms of sine and cosine.
4. Only work on one side at a time. Only switch sides

if you cannot progress any further (e.g., you are
stuck, or you will make it more complicated)
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Ex.1 Prove cos(z — y) _ 1 + tanx tany
cos(z +y) 1 — tanz tany

_ coPHRB) = coyd coB-SiASSB
ng 665(')( 'j)
en(x+4) i
_ CoxemYy ¥ SRSy +7X

X
% T x
wxmﬁ“Sd«?\ Su‘\% "7( -

(wxwh Senk S\

— \UNXcny D% Loy (M

(C«nxw\t\ = Swax G N/, N
¥ ony Yesseoy)

_ [ 4 +GA'X—taV\\b,

\_'EW\‘XJQMB
=k8

Nov 15-5:56 PM

Some educators prefer a one-sided proof, where only
one side of the equality is turned into the other.

This view has merit, as it maintains an important
property of a proof like this, called reversibility.

Ex.1 Prove COS(.’B — y) = 1 + tanz tany
cos(x +y) 1— tanz tany
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Assigned Work:
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